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1. et ues ) A= F 9 I 9w # T IR

78 wegm a1 Bl 98 Prefafes & @ e
weEA A B 87

2. Tt ou A A 09 A T T A T ok

I 2 e ¥ fou Iaer g & @ T e
918 3 I Yewrere § Fmfsm fFm mn it
AREA Ore ¥ IEma R T whem %
qTq oo 1 3ifom T @@ wm?

(@) TTER
(b) T

(c) “Hem
(d) w3

3. 9f2 AFa R A @ TR IR (RBCs)

N gug Fe S o 3R A aan %
e (sfr @ gaacEr) faee) § aa B
W%,?ﬁRECsﬂwm?

(@) RBCs & STt

(b) RBCs F& vt 3R we sméh

(c) RBCs fage sl

(d) RBCs % =7 & #1§ yRada & &m

4. TFq T Wi i % gey § Frafafea 4 |

FH-11 HU w7 R

(@ fm # Rt % o=a ¥ fog oomen B
2

(b) e et % qrEiE § qEE w

() T\ smeE ¥ IR 9 @Em % S
pH %! FEH (neutralize) Fal & |

(@) fm @@ % pH # &l F=a ¢ 3R
ap=Terf OstgEt R R g EA
2

5. UM 49 H THE 120/80 mmHg el

213 ‘dead’ whee i euidl @

(@ F9: Frea g iR fre faifa ®
(b} wae: Frem fasifa oir fem 9= w
(c) Fum: s HpeA i At fawifa @

(d) 9 Fem g iR Hfee 95 W

6. Fr =RE fHdl @ WA (cliff) % WA T

Se & R e % 5s F 9’ IEH
e g ¥ R IR =R K I

340 m/s &, @ @R Wz F = A T
foraet 27

(@) 1700 m
(b) 170 m
{c) 85 m

(d) 850 m
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1. A sprinter feels cramps and pain in the 4. Which one of the following statements

thigh muscles after a run. This is due regarding bile secreted by liver is not

to accumulation of correct?

{a) Iactic acid (a) Bﬂe_ c.ontams enzymes for digestion
of lipids.

(b) CO, (b) Bile facilitates emulsification of
fats.

(c) pyruvic acid
g (c) Bile neutralizes the acidic pH of

(d) ethanol the food coming from stomach.

(d) Bile makes the pH of the food
alkaline and facilitates action of
2. A leaf was plucked from a plant on pancreatic enzymes.

a sunny day and kept for 2 minutes
in boiling water. It was subsequently
immersed in boiling alcohol and treated
with iodine solution. What will be the

final colour of the leaf after the test?

5. The blood pressure of a normal human
being is found to be 120/80 mmHg.
These “numbers’ represent the blood

pressure at
(a) Colourless (a) ventricular contraction and
ventricular relaxation, respectively
{FF" Ctpen (b) ventricular relaxation and ventri-
cular contraction, respectively
(c) Blue
(c) auricular contraction and auricular
(d) White relaxation, respectively

(d) ventricular contraction and

auricular contraction, respectively
3. If the red blood cells (RBCs) of human

blood are isolated and are diluted in

normal saline (an isotonic solution to 6. A person burned a firecracker in front of
blood), what will happen to the RBCs? a cliff and heard its echo 5 s after it
burst. The distance of the cliff from
(a) The RBCs will swell the person, if the speed of the sound
is 340 m/s, is close to
(b) The RBCs will swell and burst (@ 1700 m
() The RBCs will shrink (b) 170 m
fc) 85 m

(d) No change in the diameters of
the RBCs (d) 850 m
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7. AEHGH 3 HEEd BH % o F SR A
frferfas wuEt w e Hifs -

1. TWIEHBH, @ F T T (signal)
# qftafda < 21

2. TEHIEH, WR # dgd Ga § dRafda
EzcI

3. wier, Fif® d%d # @ § giafda
A B

4. wiER, 9ga ha F @R * wRafda w5
2l

39 & A FH-F U FE B
(@ 13R3
() 134
© 23R3
(d 23R4

8. 100 W% % fagq ses #t fa9 d 10 W
WA § @ S @) e g 3 A A e
IR @ S A @@ A wR?
(192 = 1 kWh)

(a) 300
(b) 108
(c) 216
(d) 033

9. THAWH & & g™ dif W@ § fa F@ 9
ot = & foqu Sn-wwg Oe & 3faia &9 =
frefua =t 27

(@) 38 wad 3T

(b) a1 Frae foram
(c) 9% g @@ A T
(d) IThH Aga 91

10. 10 cm WiFE gl ar@ o8 i g fra 27
(@) 0-1 SEATH
(b) 1 SEAT=H
(c) 10 SHATH
(d) 100 SEHT=

11. 97 ¥ Wiftmm feq % Sem | watm
F=fafas wut w fa=m Hifs

1. MgO % %a Ui sar 2|

2. 9% T& TR %1 TF e B
3. W1 Ry I A R
I § A FH-V F9F G &7

(@) Fad 1 3R 2

(b) Faa 1 3R 3

(c a4 2 3R 3

(d 1,23R3

12. 4= & 7 wfufEn F a9y § $9-8 w9 w@
&7 :
CaO(s) + H,0() - Ca (OH), (aq) + =
1. fen 98 | w1 wm dad g ¥
- foru for siran 21

2. 99 4 F HA F WA &R F gaR
fore form < R1

3. @@ W CaCO, H Waell 7@ &M &
fore ca0 a1 # faemme co, ¥ w9 HR
nfa & srfufsen v )

4. ‘g0 A 9™ | I Ffowa TRgeEs
T e A R

= feg e e w1 wE =g I g

(a) FaA 1 3T 4

(b)) 2 3N 4

(c) 233

(@ 1,334
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7. Consider the following statements about

the microphone and the speaker of
a mobile phone :

1. The microphone converts sound to
a mechanical signal.

2. The microphone converts sound to
an electrical signal.

3. The speaker converts a mechanical
signal to sound.

4. The speaker converts an electrical
signal to sound.

Which of the statements given above are
correct?

@ 1 and 3
() 1 and 4
(c) 2 and 3
(d) 2 and 4

8. A 100 W electric bulb is used for

10 hours a day. How many units of
electrical energy are consumed by the
bulb in 3 days? (1 unit = 1 kWh)

(a) 3-00
(b) 1-08
¢ 216
(d) 033

9. The area under the velocity-time graph

for a particle moving in a straight line
with uniform acceleration gives

(a) its average velocity

(b) its net displacement

(c) the distance travelled by it
(d) its average speed

10. The power of a lens of focal length

10 cm is

(a) 0-1 dioptre
(b) 1 dioptre
{c) 10 dioptre
(d) 100 dioptre

11. Consider the following statements

regarding burning of magnesium ribbon

in air :

1. White powder of MgO is formed.

2. It is an example of combustion
reaction.

3. Heat and light are produced.

Which of the statements given above are

correct?

(@ 1 and 2 only

(b) 1 and 3 only

{c) 2 and 3 only

(d 1,2 and 3

12. Which of the following statements with

regard to the reaction given below are
correct?

CaO(s) + H,0f) — Ca(OH), (aq) + Heat
1. Quicklime is used for white-
washing of walls.
2. The solution of slaked lime is used
for whitewashing of walls.

3. CaO reacts slowly with CO, in
air to form a thin layer of CaCO4
on walls. -

4. Calcium hydroxide called ‘slaked
lime’ is an inorganic compound.

Select the correct answer using the code

given below.

(@ 1 and 4 only

(b) 2 and 4

f¢) 2 and 3

(d 1, 3 and 4

JNBY-D-GNL/59A : 5

BUY SCHOOL BOOKS, GUIDES & SOLVED PAPERS FROM

WWW.EAZYSALE.IN




13. SN W AS g2 99 F A (heating) F

day # frefafas § @ F9-8 F97 w6 87
1. NO 1 0 Y8 (fume) Feherar 21

2. TR 0, T\ fwed 2

3. Ig i AR 1 T I R

4. T NO, Ta & 3= ¥ foe wgw o
3UEed (thermal decomposition) =l
TF FE R

R Ry T F2 F TEm WD W g
(@ 132

(b) 2, 334

€ 1,334

(@ Faa 23R4

14. P=fafaa & § S9- siwdwo afifen T

4

(@ TR R S A

(b) €Sl Aae Gre

(c) TaFaifya (Rancidity)

(d) &

15. WRd ¥ UF U9 ¥ 9n #, Pefafea @@

(clues) W Teram fifsm -

1. 7@ ‘o @ el el geft Tl gy
¥ ®9 § FH a1 2

2. T@H WA ® B: § ¥ FF -l w9

(division) &I

3. W[ F FA AA%BA b AT 2:39
wieera & &en gan R1

fou T wHA F MUR W T A TEEH
#ifs)

(@) FAieH
(b) ¥9 W
(c) ¥E™
(@) BTG

16. frfafaa # A fra Tog-wqe i dwmd e

} @t §7

(@) Nfem, 3Ty wow, FAleH, TEWE
(b) VGG, AW W, FAEH, A W
(c) NfEm, 3Ty wam, FAlH, T TN
(d) BTG, A T, FAieH, TEE

17. T 3 o it i a9 B 399 e o 9r

faftm ﬁ! HMHd:, EilEliza;, a_mql"ﬂ, Hﬂ?ﬂi
v gferre # e faem o) s Feafoiea
%} = w8 o fBen?

(@) WU, e, e, afierg
(b) WG, AT, Y W, ATy
(c) Tsirm, swm, W, aferg
(d) Trirm, swm, iy W, ey

JNBY-D-GNL/59A 6
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13. Which of the following statements with 15. Consider the following clues about a

regard to heating of lead nitrate powder State of India :

over a flame are correct? : 1. It is known as ‘land of red river and
blue hills’.

1. Brown fumes of NO are released. 2 i r.:ontains three of the six

physiographic divisions of India.

2. Colourless O, gas is released. 3. It covers about 2:39 percent of

total areas of the country.

3. "It is an ‘example | of ‘oxidation Identify the State on the basis of the

reaction. given clues.

4. It is an example of thermal () Eamainia
decomposition used for the (b) Andhra Pradesh
production of NO, gas. (c) Assam

(d) Chhattisgarh

Select the correct answer using the code

; " 16. Which of the following sets of States
given below.

shares boundary with Telangana?

(a) Odisha, Andhra Pradesh,
(@ 1 and 2 . Karnataka, Maharashtra

(b) Chhattisgarh, Andhra Pradesh,
(b) 2, 3 and 4 Karnataka, Madhya Pradesh

(c) Odisha, Andhra Pradesh,
(c) 1, 3 and 4 Karnataka, Madhya Pradesh

(d) Chhattisgarh, Andhra Pradesh,
(d) 2 and 4 only Karnataka, Maharashtra

17. Rani told her friends that last year she
did boating in four different lakes,
namely, Loktak, Barapani, Kolleru and

14, Which one of the following is not an Pulicat. Which of the following States

oxidation reaction? did she visit?

(a) Manipur, Meghalaya, Kerala,
(a) Rusting of iron Tamil Nadu

(b) Manipur, Meghalaya, Andhra
(b) Opening of soda bottle Pradesh, Tamil Nadu

(c) Mizoram, Assam, Kerala,
(c) Rancidity Tamil Nadu

(d) Mizoram, Assam, Andhra Pradesh,
(d) Combustion Tamil Nadu
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18. 2011 # sFOF F gEr, Fefafea 4 @ 21. frafafaa § ¥ #9-d@ Al sEfy wg @

P91 /FH-] FYT wE B/E7 oE W geW § HEEA A & o3 fes
1. e =fe, S Faw v v @ g Rra FeEEY GHI AR (appreciation  of
7 weha, 9% WER T R currency) ®rdl 87
2. W oy iR 3w Afis f 3y F =fE, (a) Towarasil Tshnii oiR difss ifa
w1 fet oft W B wm TEd g 9 s

(b) HF=HI TR R i Aifa
(c) EF=ET ToENE A R fremEd

for@ 21 gt B, F WIER AH S B

2 fo e g2 1 wm W ad s gfm) M Ay ,

(@) FaF 1 (d) GF=El Wizw Aifa v fawared
T Aify

(b) Fad 2

() 1 3R 23 22. WHR FR = § FH F www feh fw = &

(d AdM1IATE 2 T W

(@ (Fsht fem #1) af@=  (Crowding
out)

19. ¥R % FAY: fhem 989 o weeg U=ai 7 @

Fr T T 27 (b) (Fh Fdw #1) siwiA (Crowding in)
TR (c) :*ﬂm (Pump priming)
(d) (D ing)
(b) 236 _ ot
¢ 2 3R5 23. F=fafas & ¥ FR-w/aw-8, @ifa sEm
/% 3eq B/87
i 1. /99 Ts-aE R fifoat awp
2. TPE AR U Tl W At @ e
20. F=fafas & 4 *R-W fEfa gaedifa 6 3w 3. wEdfEt wd dafafy ARt @) s
o S w87 & frarza Fe
(@ W W A @ ghe, smgfd A s #13 fR T gz  wE w @ I g
o (@ Faa 1 3R 2
(b) i R e g (b) Fa= 2 3% 3
(c) F1-gfd & F+ © 1,233
(d) TR 1 I=a T (d) +aa 3

JNBY-D-GNL/S9A 8
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18. According to the Census 2011, which of
the following statements is/are correct?

1. A person who can only read but
cannot write, is not literate.

2. A person aged seven years and
above, who can both read and
write with understanding in any
language is treated as literate.

Select the correct answer using the code
given below.

fa) 1 only
(b) 2 onmly
c) Both 1 and 2

(d) Neither 1 nor 2

19. The Tropic of Cancer passes through how
many coastal and landlocked States
of India, respectively?

fa) 1 and 7
(b) 2 and 6
fc) 2 and 5

(d 3 and 5

20. Which one of the following situations can
lead to inflation?

(a) Rapid growth of aggregate demand
outweighing supply

(b) Sluggish growth of aggregate
demand

{c) Reduction in the money supply

(d) Higher levels of unemployment

JNBY-D-GNL/S9A

21. Which of the following policies help

to raise interest rate unambiguously
and thereby lead to appreciation of
currency?

(a) Expansionary fiscal and monetary
policy

(b) Contractionary fiscal and monetary
policy

(¢c) Contractionary fiscal policy and
expansionary monetary policy

(d) Contractionary monetary policy
and expansionary fiscal policy

22. The contraction of private investment

spending due to deficit spending by the
Government is called

(a) crowding out
(b) crowding in
(¢) pump priming

(d) dumping

23. Which among the following is/are the

objective /objectives of the NITI Aayog?

1. Imposing policies on the
States/UTs '

2. Allocation of funds at National and
State levels

3. Design strategies and long-term
policies and programme frame-
works

Select the correct answer using the code
given below.

(a) 1 and 2 only
(b) 2 and 3 only
fc) 1,2 and 3
(d) 3 only

[ P.T.O.
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24. fufia wey safa & smun w wifs iy = 27. WRA # IATI-TG@ (writ of certiorari) ST{

39NN 9 (MPCE) % %o ¥ et % uftwem FH & fou Frafafea § & ¥9-d o/
H frfea e g i 1§ ofi? Hfyard 2/87
(a) TFHSETA AiHf . 1. X it 31 S s de =g
(b) g A o o yoeEl ¥ aftmr ® wwifa
) e FA 9 g Fuior 713 5 Bt
A TR & i = w9 3 T FQ w5
(d) I wiufd 4 A
25. fr=fafas § @ Fw-w/F9-3, W FuE % Ei]m' I%m: q%l e 3 sifeeriean
fa@m fem (NSDM) 1/% 39-3899 B/%7
1. HEITE Wi Ha fRw my F2 @ wEm = oEd I gh
2. WHRIRE IR (@ ¥ 1
3. HEWME NURE GEA H AN IBH
: (b) FaA 2
(leveraging)
12 T e 2 1 v = oad I g (¢) 1 3R 23
(@) Fad 1 @ Fd13mAA 2
(b) Fad 2 .
) 1,233 28. ¥ ¥ WRa ¥ fhe e =mwfd 3w
(d) Fad 2 3R 3 =i’ T | fdy e w1 e =@
e T 97
26. POSHAN 3#f\mm 1 #rffad =0 % fau s
Pt § @ B weR R 8] TR U N,
YT TS R/R7 (b) T Fo Sfo ATEFER
1. ¥E@ ¥ goett & fom sim-asg (c) =TT 3o THo A
afier (inter-sectoral convergence)
2. wieensdi siv a=di $ awafi® T4 (real (d) = Aée o WA
time) ¥ g N TR T F fag
MENfR (1CT) 1 S 29. T A 7 a7 T F AE@F B 7
(@ Fad 1 -
(b) ¥aa 2 e .
(c) 1 3T 2 21 (c) HEOT ITEE A
(@ I 1IRAH 2 (d) IEEAY TS
JNBY-D-GNL/59A 10
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24. The computation of poverty in terms
of Monthly Per Capita Consumption
Expenditure (MPCE) based on the Mixed
Reference Period was recommended
by the
(a) Lakdawala Committee
(b) Tendulkar Committee
(¢) Dandekar Committee

(d) Alagh Committee

25. Which of the following is/are the sub-
mission/sub-missions of the National
Skill Development Mission (NSDM)?

1. Institutional training
2. Overseas employment
3. Leveraging of public infrastructure

Select the correct answer using the code
given below.

27. Which of the following conditions is/are

necessary for the issue of a writ of
certiorari in India?

1. There should be a tribunal or an
officer having legal authority to
determine  questions  affecting
rights of subjects and having a duty
to act judicially.

2. Such tribunal or officer has acted
without jurisdiction.

Select the correct answer using the code
given below.

fa) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

fa) 1 only
(b) 2 only 28. Who among the following Chief Justices
fc) 1,2 and 3 of India ordered the constitution of

(d) 2 and 3 only

26. Which of the following strategies is/are
adopted for implementing the POSHAN
Abhiyaan?

1. Inter-sectoral convergence for
better service delivery

2. Use of technology (ICT) for real-time
growth monitoring of women and
children

Select the correct answer using the code
given below.

fa) 1 only

(b) 2 only

{c) Both 1 and 2
(d) Neither 1 nor 2

JNBY-D-GNL/59A
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a Special Bench called ‘Social Justice
Bench’ ?

(a) Justice H. L. Dattu
(b) Justice K. G. Balakrishnan
(c) Justice R. M. Lodha

(d) Justice Y. K. Sabharwal

29. Who among the following is the author

of the book, Bandi Jivan ?
(a) Rash Behari Bose

(b) Veer Savarkar

(c) Aruna Asaf Ali

(d) Sachindranath Sanyal

[ P.T.O.
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30. 1937 # g & #H, WRdE WA FoE 33. 7EaT R fasEER 'R F me y-wm #

frafafas & @ ¥9-8 @ widl 4 a 994 frfafaa @ @ FR-H 2 afeaf a=d &7
=€l Ul (single largest party) % ®7 ¥
) e o o ()
4 Sl (b) WA 3R TeEh
(b) v i SRR d v SRR
d g
(c) USTE AR A9 e, P
(d) S IR FE 34, frefifan § 4 w0 P WEA (dual
control structure) I WA AHAF a
31. Frffas Foi w frem SR : - &7
R e W T A AR g S () 3= T v e
Bk (b) FEH TFHeH
1. O %9 H ® ® ARdE g st § 3§ 5
@ e & AR Al A By oo
2. o R T E WA T AR (@) 5 St g w
aq-lﬁ .
i ol 3 8 /-2 wd A 35. ﬁmﬁr@aﬁﬁmmqsﬂmw(emnm
community) FH-1 87
(@) & 1 @ W
(b) Fad 2 () i
c) 1 3R 22E () m
(d Fd1AMMAE2 @ i
32. it ¥ fafm = A1 R 9@ Frafafea 36. Prefifaa § A fra 2w 6 Bk A9 &1 W
T § | FH-T W e gafera T ¥ U~ (Chevrons) &7
(@ O $EFH GHR ¥ H AT (@ e
() Fm ;. WS PR w9 s (b) 2 HedigE
(c) AR : wIieh #H ITFEA H 3T (c) 3IAE
(d) AR : TE & IumEa § emeen (d) Twarsa
JNBY-D-GNL/59A 12
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30. In the election held in 1937, in which 33. Which two rivers flow in the region
two provinces was the Indian National between Gulbarga and Vijayanagara
Congress not able to emerge as the Hampi?

single largest party?
(a) Punjab and Sind

(b) Assam and North-West Frontier (b) Mahanadi and Godavari
Province (c)

(aq) Narmada and Godavari

Kaveri and Periyar
(c) Punjab and Assam

(d) Krishna and Tungabhadra
(d) Assam and Madras
34. Which of the following is the only
31. Consider the following statements : paramilitary force with a dual control
After forming the Indian National Army, structure?
Subhas Chandra Bose

1. recruited a large number of soldiers (@) -"Contsal-BewenonF abiox o

from the Indian Prisoners of War (b) Assam Rifles
in Japanese camp
2. introduced a women'’s detachment (c) Indo-Tibetan Border Police

named after the Rani of Jhansi

Which of the statements given above
is/are correct?

(d) Central Industrial Security Force

35. Which one of the following is an ethnic

(a) 1 only ’
community of Assam?
(b) 2 only
() Both 1 and 2 () Bhil
(d) Neither 1 nor 2 (b) Gond
(c) Ahom
S i f th i i i
32. Which one of the following pairs denoting (@ Adi

various forms of ‘Bhakti’ is not correctly
matched?

36. The Chevrons is the name of the cricket

W Segtin, | : BENeE {0 ai0ods “with team of which one of the following

attributes

countries?
(b) Nirguna : Belief in Gods without
attributes (a) Australia
(c) Alvars : Believed in devotion of (b) The Netherlands
Shakti
(d) Nayanars : Believed in devotion of (c) Ireland
i (d) Zimbabwe
JNBY-D-GNL/59A 13 [ PRO;
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37. W%mmﬁﬁm%ﬁqﬁaﬁ%ﬁ
¥ form udig sum # Srer 7

(a) FTRT TEE A

(b) FaARE T UFHE IAH
(c) FIga ATEN WA A=
(d) FN TET I

38. 3 ¥ =M, ¥ 2022 # Wifew Rgm § N
GEERR 1 WTHdT TE 87
(a) TeH TEF
(b) S Tho FATK
(c) T THAL
(d) v2n faferr

39. ¥y 3R 25 gl % fog wim & wfed =m
(reflex arc) =i & €1 f=fafas & @
FH-|T I, uﬁaﬁmaﬁmm@f
Frefta = 87
(@) T — G = — ey & et =
— Hf&eh — e A — FRR
(b) W — G =R — AR — e
A Rt = — 3 =RA — FraR
(c) T — Wk =RH — Fey § S =R

— FAR A — T

(d T — R$ P — dfcess — 38
[ — FEH

40. YA @M ¥g 9l I ¥ R

Fr=ferfaa & & F9-a1 sifEd 27

(a) NacCl

(b) KCl

(c) Hreretia

(d) FEEH

JNBY-D-GNL/59A

41. S7efa SR § RNA #& faemm 2 27

(a) Fad HIREFEES
(b) FAA F5F IR FHEA

(c) s, FNHEA, GEHOUEH, eRacaH
3R astt snfer

(d) 5, FIREEA, GIHOE, TRaATH
¥ TgEEm

42. @ #, aaRft favSUa®  (intercalary

meristem) HHIA: F&l W B@ g 27
(@) e

(b) T F o

(c) Wi

(d) WR-3m

43. 0 § 5@ F Sy 9o ¥ R smem

R F iy Fas B 81 FefaRes § @
FH-U TR Fak SfEa FREES A
BT 87

(@) MR (Tracheid)

(b) aTiEH (Vessel)

(c) STETH Jgd (Xylem parenchyma)

(d) STEEH $TER (Xylem fibre)
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37. Cheetahs, brought from Namibia, were 41. In plant cells, RNA is present in
introduced in India to which one of
the following National Parks?

(a) Kaziranga National Park

(a) cytoplasm only

(b) Keoladeo Ghana National Park (b) nuclei and cytoplasm only

(c) Keibul Lamjao National Park

(d) Kuno National Park (c) nuclei, cytoplasm, mitochondria,
chloroplast and endoplasmic
reticulum

38. Who among the following is not a
recipient of the Nobel Prize in Physics
in 2022? (d) nuclei, cytoplasm, mitochondria,

3 chloroplast and ribosomes
(a) Alain Aspect

(b) John F. Clauser

(c) Klaus Hasselmann

@ An I 42. In grasses, intercalary meristem is
ton Zeilinger

usually located at

39. Reflex arcs are evolved in animals for

quick and efficient responses. Which (a) root tip
one of the following sequences correctly
represents a reflex arc? (b) lateral sides of stem

(a) Receptor—Sensory neuron—Relay
neuron in spinal cord—Brain— (c) base of leaves
Motor neuron—Effector

(b) Receptor—Sensory neuron—Brain (d) shoot tip
—Relay neuron in spinal cord
—Motor neuron—Effector

(c) Receptor—Motor neuron—Relay
neuron in spinal cord—Sensory
neuron—Effector

43. Xylem is a type of complex tissue in
plants for upward conduction of water.

: Which one of the following xylem tissues
(d) Receptor—Motor  neuron—Brain consists of living cells?
—Sensory neuron—Effector

(a) Tracheid

40. Which one of the following is essential
for thyroid gland to make thyroxin?
(@ NaCl (b) Vessel
) KCl (c) Xylem parenchyma
(c) Cholesterol
(d) lodine ({d) Xylem fibre
JNBY-D-GNL/S9A 15 PR,
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44. 11 Q 22 Q 3R 33 Q WA I o 48. 12 m/s ¥ 94 | 1 W @ @ I F 75
sflus wd @ & T gee SRRy T T 3G 16 § 6 m/s? 1 HA B R
fora ater 27 A% T F 9% PR T4 & ¢ 2 s F a9
@ 66Q g;?m%mmmmﬁnﬁgﬂ
I (a) 12 m
) 12 Q (B) 24 m
(d) 6Q () 36 m

(d) 48 m

45, ydm e faga-omafd § @@ fgem o)
(red live wire) 3R T & AW (black 49, Bz-actm IR F sfvms w1 weEtE
neutral wire) # @9 rm.s. fAYE® ez 11 87

(potential difference) foaa1 g 27 (@) WIfETH TEERA FEHE IR RS

(@ 160 V A 1 HIA

() 220V (b) Wfeam FEe R gorEfE s #

c) 300V e '

@ 410V (c) zaﬁmmmmmmm
46. g @9 3R [PEm W Fw: R W {d}%mmmmmm

anuTia 8 &7

(a) i Head i fraed 50. Frefafaa Her = fRew Hifv

(b) ﬁasq:ﬂ‘r{ﬂmﬁihw Hifsa 3R 3 F Oid F TFa FA -

(c) @i frdea 3t dema 1. [HzO"] ¥t % Hizvl/9ME1 (volume) &

gi &t 2

(@ i e 3R Ree 2. i som e R

3. 9d # 3 -t e wifee
47. @l 3R g a0

I § | BH-91/FH-8 P G /7
() a7 ww: e S srgwed A & 1,98 3
(b) =T H HHY: ST A e A & (b) Faa 13k 2
(c) o % A srgeed el & (c) ¥4 3
(d) % A ST et € (d) ¥aa 2 33

JNBY-D-GNL/59A 16
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44, Three resistors of resistances 11 Q, 22 Q
and 33 Q are connected in parallel.
Their equivalent resistance is equal to

(@) 66 Q
(b) 22 Q
(¢ 12 Q
(d 6 Q
45. The r.m.s. potential difference between

the red live wire and black neutral wire
in Indian domestic electric supply is

(@ 160 V
(b) 220 V
(¢) 300V

(d) 410V

46. The hydrogen bomb and the uranium
bomb are based, respectively on

(a) nuclear fusion and fission
(b) fission and thermonuclear fusion
(c) geothermal fission and fusion

(d) geothermal fusion and fission

47. Sound and light waves are

(a) respectively longitudinal and
transverse in air

(b) respectively transverse and
longitudinal in air

(¢) both longitudinal in air

(d) both transverse in air

48. A car moving with a speed of 12 m/s

is subjected to brakes which produces
a deceleration of 6 m/s?. The car takes
2s to stop after the application of
brakes. What is the distance covered
by the car after the application of
brakes?

a) 12 m

(b) 24 m

(c) 36 m

(d 48 m

49, What is the chemical composition of

a soda-acid type fire extinguisher?

(a) Solution of sodium hydrogen
carbonate and sulfuric acid

(b) Solution of sodium carbonate and
sulfuric acid

(c) Solution of carbon dioxide and
sulfuric acid

(d) Solution of sodium chloride and
sulfuric acid

50. Consider the following statements :

While diluting concentrated nitric acid
solution

1. the concentration of [H;0%] ions/
volume increases

2. water must be added slowly to
concentrated acid

3. acid must be added slowly to water

Which of the ‘statements given above
is/are correct?

(@ 1,2 and 3
(b) 1 and 2 only
(c) 3 only

({d) 2 and 3 only

JNBY-D-GNL/59A 17
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51. fou M wedi F faw pH #1 w@ #0 fr=fafaa 54. Fe,0, % Ugfifmam & wy sfufean ¥ fou

4 FH-71 87 Frfafaa 3 @ ¥9-3 599 o §7
(@) W < g =1 @ < few i dfifim < 1. 7% ‘vufgz sl & =9 & 9@ 3
o 2. ITE F FH WE AfcEn-wEeE %
) e s i < < TR < A gk
™ 3. ugffam g stfafieo i & w9 #
FE F B
(c) HF F @ < T < Fh < fies 3% - L R
: ceol
(d) g F:1 W@ < Fh < T < e 3%
Sreifirn Ry M 2 = W W wd IR g
(@ 132

52. UHEEFO whEm & fou frfafea & & ¥F-w
w7 27

(b) 133
(@) ¥ TEMmiEm i Garo il s=m 21
(c) 234
(b) ffEm, TEfEn e Adifem
a1gTt A T R 1 war R @ 134
() w5 Ugfifmm w@d ¥e & ok
s g FAE W IqF Bt 2
(d) I% qFAR I WY we vl 55. fafl 3 3w fist 1 @9 @9 (Stewart
Island), 9 3% W& (Bay of Plenty) 3R
ﬁa(ﬁawke Bay]'a‘imaiiﬁﬂiﬁmn
53. Mefd fd Feell SO (vellow  sooty Todf 3 5w 3w =1 o fen?
flame) % H1Y SieAd] 2 | FHH FRU &
(a) T & TG H1 A FA A0 B S
(b) AL ZEH Bl R (b) FrEfe
(c) mgﬂaaﬁmmqﬁa?ﬂ_% © e
(d) TEEA AR wewW A Ay femm
B 2 (d) S
JNBY-D-GNL/S9A
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51. Which one of the following is the correct 54. Which of the following statements are

order of pH for the given substances? true for the reaction of Fe,05 with
aluminium?
(a) Coffee < Lemon juice < Milk of
magnesia < Blood 1. It is known as the ‘thermite
reaction’.

(b) Milk of magnesia < Blood < Coffee

< Lemon juice 2. The heat evolved is used for

welding purpose.
(c) Lemon juice < Blood < Coffee < Milk 5.¥

of magnesia 3. Aluminium metal acts as an

' .
(d) Lemon juice < Coffee < Blood < Milk oxidizing agen

of magnesia
4., Molten Fe and Al are formed at the

end of the reaction.

52. Which one of the following is not true

for anodizing process? Select the correct answer using the code

given below.
fa) 1t makes aluminium corrosion
resistant.
(@ 1 and 2
(b) Metals like aluminium, titanium
and magnesium can be anodized. (b) 1 and 3 3
() Clean aluminium article is the fc) 2 and 4
anode and oxygen gas is evolved at
‘the cathode. (d 1 and 4

(d) 1t is used in aircraft industry.

55. Vicky told his friends about his visit

53. Naphthalene burns with a yellow sooty to Stewart Island, Bay of Plenty and
flame. This is because Hawke Bay. Which country did Vicky
visit?

fa) carbon to hydrogen ratio is low
(a) Canada
(b) there is incomplete combustion
(b) Australia
(c) there is excess suppiy of air
() New Zealand
(d) of presence of impurities of
nitrogen and sulfur (d) Ireland ‘
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56. Ta Rl § W e fe foww w6 W= 59. 1 ® TH-I ¥ Wy gk AP sk

WU FH F A 1 T | TR W F:AW gl & 9 fRn g = owEm = oad I
ELE
(@) e e, Fga HAR, ST 7SR
-1 - gE-n
(b) < fohen, sfem T2, Fga HAR (=) ()
A. fag sy feaw 1. 29 a8
(c) e Fren, Fqa HAR, TR F AH 5 e g ok e
() e fren, gar] 1 wee, e i C. fau 5 fa=w 3. 2wt
- D. Jqiga #rg e fegw 4. 22 9N
®e

57. 3fe 1§ ufsm ¥ @@ it IR S R, @ oA
% e W f¥a viedl @1 udl W F0 ame el A B e D

(@) FATRS, FHG, AR, T (b)

W >
m
0

SH

HATHRTS, hIAgL, 91, HITelgl
i A B e D

(c) THHY, TR, TR, G
s B ¢ .. D

(d) FAR, TAFRIS, G2A1, TP 2 4 1 3

60. iEn warem g = 2020-2021 F fou

58. f=fafaa & & frg vs9 1 Im—<fim fem & vy wesH sﬁ'uﬁq,-(tr['@m (PGI) #,
gatftes faear 27 Frefefiaa % | frm osg /99 Ts9-89 = wH
yird o= 3 e =i 27
(a) FREE
(@) A
(b) T )
(b) TSTE
(c) shfem ©) TR TN 8 R
(d) BTG (d) “ErTe
JNBY-D-GNL/59A
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56. Manav is planning to visit all UNESCO
World Heritage Sites in Delhi. He will be
visiting

fa) Red Fort, Qutab Minar, Jama
Masjid
(b) Red Fort, India Gate, Qutab Minar

() Red Fort, Qutab Minar, Humayun
Tomb

(d) Red Fort, Humayun Tomb, India
Gate

57. What will be the correct sequence of
cities on the bank of river Ganga if
someone moves from west to east?

(a) Prayagraj, Kanpur, Bhagalpur,
Patna

(b) Prayagraj,
Bhagalpur

Kanpur, Patna,
(c) Kanpur, Prayagraj, Bhagalpur,
Patna

(d) Kanpur,
Bhagalpur

Prayagraj, Patna,

58. Which one among the following States
has the longest extension in north-
south direction?

(a) Jharkhand
(b) Telangana
(c) Odisha

(d) Chhattisgarh

59, Match List-1 with List-II and select the
correct answer using the code given
below the Lists :

List-I List-II
(Day) (Date)
A. World Wetlands Day 1. 29 July
B. International Tiger Day 2. 22 April
C. World Water Day 3. 2 February
D. International Mother 4, 22 March
Earth Day
Code :

(a) A B &

ga-g. 1 2
) K" ‘B~ ¢ D
8.0 M
kA B e NB
;i SR W
7 e U - T s
> o P e

60. Which one of the following States/UTs
is not among the top five in the
Performance Grading Index (PGI),
published by the Ministry of Education
for the year 2020-20217?

(a) Kerala
(b) Punjab
(c) NCT of Delhi

(d) Chandigarh
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61. fifafaa HuE w fomm $if ot afissh 5 63. Feffea # ¥ F-w1/9-2 Fom wd 3/%0

TR : 1. tawfs A g daa adm oaim d
(Tomb of Sand) FTEA T YEFR
3 yfrg fbew aifash, e sk Fmfar § aar SfieR arefl e w9 @ fEd st e
FUA RdiT T AT #1992 # 3F feralt 7§ el gw R
Tl JEFR ¥ 5 = sk 3 1998 @ 2. zm e de, RA ¥ wERa uwwen
oH T 2001 TF IE I e g I ® B sl g g wew
IS F ey F ®Y A F 97| wwdig R o T
37 g Sfia Fier F 3w gy
3% Yfifga T area wIed [EER @ g RS GRS UELS G
fear | (@) a1
(b) Fad 2
(@) TN (¢) 1 323
(d ad@1ARIH 2
(b) T EHH
64. g WtF AWM H H@al @O, W FE
fel Buela  &3-3-8=w  aam  (bilateral
g military-to-military exercise) 8, 31l &/
A A wra iR Fefefa § & fra 3w 3 fey
(d) T URE aal % de T man?
(a) SIUH
(b) SEHfEEn
() 2™
'62. UN 2023 Sl @Hed & JAENA-wd (d) =R

(venue) F=fafiad § § #9-a1 27
65. Twhifd T & oy wwen g Fefafas § 9
Tora 3ura =1 wam R s g 27 i

aTfEmes, o dio

5. () &, 3o anfe | Feha =3 Fem
(b) Tfa w it g (subsidy) wem

(b) A sis)
(c) ==a 3R wEfy s @ = w G

(@ % feh i L
(d) miaa Tt ffY e (CRR) § #+

(d) 7% g FAT
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61. Consider the following statements and 63. Which of the following statements is/are
identify the actress : correct?

1. Tomb of Sand, written by Geetanjali

She i ;
he is a renowned film actress, director Shires, is the first book ariginally

and producer, and an accomplished written in any Indian language to
Indian classical dancer. She was win the International Booker Prize.
conferred the Padma Shri in 1992 and 2. Tomb of Sand is the first novel
has served as the Head of Central Board translated from Hindi to be given
for Film Certification from 1998 to 2001. theslmerhationn Foaikhy S
In recognition to her exemplary lifetime S.clcct the correct answer using the code
contribution to Indian Cinema, she PRI P
was honoured with the prestigious (a) 1 only
Dadasaheb Phalke Award. (b) 2 only

(c) Both 1 and 2
(a) Vyjayanthimala (d) Neither 1 nor 2

64. The eighth edition of the Exercise Garuda
Shakti, a bilateral military-to-military
exercise, was conducted recently

(b) Waheeda Rehman

(c) Mala Sinha between the special forces of India and
(a) Japan
(d) Asha Parekh (b) Indonesia
(c) Bhutan
(d) Myanmar
62. Which one of the following is the venue 65. Which one of the following is a measure
of the UN 2023 Water Conference? that can be used by the Government

for combatting inflation?

(@) Washington; DC (a) Increasing the non-planned
expenditure on defence, police, etc.

(b) Providing more subsidies on

N York
B exports
) (c) Increasing the rate of interest on
(c) San Diego savings and fixed deposits
({d) Reduction in the cash reserve
(d) New Delhi ratio (CRR)
JNBY-D-GNL/S9A
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66. TMI FHa w1 § FiF fiREe F1 @0 Faa §7
(@) FEEHIfA (Deflation)
(b) HEEHifasa 5@ (Stagflation)
(c) @A (Devaluation)

(d) Wé (Recession)

67. WY =E-ImER TR gEEH  (MPI) A
Frfafes 3 @ #w-m d¥as wflifea 27

(@) el fven & ad
(b) W& T
(c) =g |uTfeal

(d) wia =afe 3y

68. N tyan fasty @l #i win & gfgdat %
FR B Trefl SO R FEd §7

(@) ST ST
(b) TTEATHF ST
(c) T ST

(d) T=3F U=

JNBY-D-GNL/S59A
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69. Ffafias # ¥ Fm-w/F9-2, vamE @R

T IS (PMSSY) 1/ 3299 B/87

1. gdas @WRe daEe danedll $ ueeya
&l STger! F g w

2, o W faie 3R gderdt A
% o wrvim 9ge wem w

3. W ¥ Emgl sgfam fan ¥ fe
gfawmsi 4 gfg we

A fow g2 # wEm R wd I gRu
(@) Fad 131 3

(b) Fad 2 3R 3

(c) a1

(d 1,233

70. 3 A fFg uodifos Ja1 3 toifes dmea &

w9 H R T F0E F 9 H@ N A
% H9 F 36 RwdTH 1 gee e a1

(@) FAGHATE T2

(b) Tfo dto 3o AT

() THe Fo Tidh

(d) SETETET TEE
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66. The sustained decrease in the general
price level is called as

(a) deflation
(b) stagflation
(c) devaluation

(d) recession

67. Which one of the following indicators
is included in the National
Multidimensional Poverty Index (MPI)?

(a) Years of schooling
(b) Literacy rate
(c) Life expectancy
(d) Per capita income
68. The unemployment that occurs due to

changes in the technology or in the
demand for particular products is called

(a) frictional unemployment
(b) structural unemployment
(c) cyclical unemployment

(d) disguised unemployment

JNBY-D-GNL/59A
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69. Which of the

following is/are the
objective /objectives of the Pradhan
Mantri Swasthya Suraksha Yojana
(PMSSY)?

1. Correcting regional imbalances in
the availability of tertiary health
care services

2. Providing ‘universal access to
public  health services and
universal immunization

3. Augmenting facilities for quality
' medical education in the country

Select the correct answer using the code
given below.

(aq) 1 and 3 only
(b) 2 and 3 only
(c) 1 only

(d 1,2 and 3

70. Who among the following political leaders

suggested the dissolution of the Indian
National Congress as a political
organization and its replacement by a
Lok Sevak Sangh?

(a) Vallabhbhai Patel

(b) Dr. B. R. Ambedkar

(c) M. K. Gandhi

(d) Jawaharlal Nehru

['P-T:0.
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72.

I, WY g wifn e d afen g
(all-woman contingent) it STt F Fren
fag % wgen 2W R =@ fvm fem 2w &
gftanfera fFm man?

(a) wTEafEn

(b) HEH

() T

(@) Frfr

Frfafas & @ F9-71, SWAYAM Fidsw &1
Torean =i 27

(a) HifeR =@

(b) e ARAH

(c) T R F=A F fow sifrems wheet
HRH

(d) T &1 § d@Er 6 H# g /R
ereeire /e o < werar &

73. fefofes & 3 Fw-w fwm /v

HATEE & el T 27

(@) Tsg faym

(b) T fRwE

(c) TER it TEEE efER Twgha
(d) 7, YR 3R wrE F favm

74. frfafan & A R wra ¥ dfum 6 e

G F wdE W e s § e
FATEHR 9R9g T = F A
Yo TR T R, el omgRa st #
Torg srgafaa &9 =61 87

(a) GEE TST 1 TS99
(b) T 1 TEAfa
(c) FFT-T uftwg

(d) ¥Ta $ gEe

75. 3l sEfos afwg #, Preafafes § @ #9-3

T3 /69 T3-47 wfifera §7

(@) ITEE, IW w3, ghAON, GoE, T
AR Fei

(b) EEN, YeE, fmre @w, TeRem
TEE TS 8 R

(c) IW oW, IWG@ES, U, BRAOT TH
ELIE]

(d) ITEE, IW WW, fwma ww, 4w
wa g

76. TV WEH FW yfewRd s@y@ #H gwron

(notion of kinship) F=fifiaa # & fras
HIEg | Hay 9 9 yaifa 27

(a) FFAHAT ¥ IH AR (identification)
(b) i HeH B SFER

) Remds s
panegyrics)

(d) o= 3R gffen (sculpture)

(inscriptional

JNBY-D-GNL/59A
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71. India is the first country in the world

to deploy an all-woman contingent to
a UN Peacekeeping Mission. In which
country did this mission operate?

. Who among the following is given

discretionary powers under the Fifth
Schedule of the Constitution of India
to set up a Tribes Advisory Council in
a State which has Scheduled Tribes but

(a) Liberia not Scheduled Areas?

(b) Sudan (a) The Governor of the concerned
State

(c) Burundi (b) The President of India

(d) Croatia (c) The Inter-State Council

(d) The Parliament of India

72. Which one among the following is not

a part of the SWAYAM programme? 75. Which of the following States/UTs are

included in the Northern Zonal Council?
(a) Video lectures
(a) Uttarakhand, Uttar Pradesh,

(b) Classroom lectures Haryana, Punjab, Jammu and

Kashmir
(c) cO}:jﬂn:g dilsg::smn forum for (b) Haryana, Punjab, Shassiudt
Pradesh, Rajasthan and NCT of
Delhi
(d) Specially prepared material that
can be downloaded/printed (c) Uttar Pradesh, Uttarakhand,

Punjab, Haryana and Rajasthan

(d) Uttarakhand, Uttar  Pradesh,
Himachal Pradesh, Punjab and
Haryana

73. Which one among the following
Departments/Authorities is not under
the Ministry of Home Affairs?

(@) The Department of States 76. The notion of kinship projected by

the Kushana rulers is best evidenced

(b) The Department of through which of the following?

Language

Official

(a) Their identification with deities
() The National Authority Chemical

Weapons Convention (b) Grants to religious institutions

(c) Inscriptional panegyrics

(d) The Department of Jammu, _
Kashmir and Ladakh Affairs (d) Coins and sculpture
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77. WHHA 9RE # fafafea 18 52 90 F s d

ST ST on?

(@) #eA wigaTd

(b) <hgud # aftg e (elder nuns)
(c) Tagoht 9g (status) A dfva wieend
(d) e "9 Frewrfaa afgemd

78. §dzH AT e Awndt & fFw wewm A 1914

T gemerER ® Ha afifa ) v # 4
(@) =t T\ ST
(b) TEENE TS
(c) THo Sflo TTH
(d) HFam s

79. WUH IJFA-HUS] Y4 | gWiw frefafaa § |

e g i g ot

(@) H% HY

(b) TR HfH

(c) denfd wWWelll  (Convention  of
Wadgaon)

(d) |TETs G

80. 3W WEE (battle) F1 AT FaRy, e FEUEHR

& T A 1741 § 29 Wi B 91
(@) TR AE A T8E

(b) e H AL

(c) IR h T

(d) SR (Changanassery) %I T8T§

JNBY-D-GNL/59A

81. frafafga & ¥ frm fage & +mn i Fiw
e % gREdl 3 uF wAweer wRer ¥
i #Afufd (overlord) % g ammaa #i?
(@) T Tfa@® (Rampa Rebellion),
1879-1880

(b) T2W f4E® (Gudem Uprising), 1886

() Ta1 faE®R (Rampa Rebellion),
1922-1924

(d) T 9IS G9H (Telangana Armed
Struggle), 1946-1951

82. 9 2 3 FIFA fau %9 (J%9) ¥a@ U= an
e 27

(@) SN
(b) ST
(c) W
(d) 1

83. T A Fm g =W, A wm w9
(City of Joy) 1 wE@® &7

(@) o Fife® (Larry Collins)

(b) S AT (Dominique Lapierre)
(c) w=are feafem (Rudyard Kipling)

(d) T TA (Mark Tully)

84. 7 ¥ frd ufm gfwm  Aof
(Entrepreneurial Vision category) §
g TP Y HEER & 99 2022 dfEw
#i% T #4 YEHR (Champions of the
Earth Award) @ &fia foran 7 27

(a) T HE

(b) i FTEHI

(c) fore <t s
(d) dfiER TR

28
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T77. Who among the following were referred

to as the ‘Theris’ in ancient India?

fa) Respected women

81. In which one of the following revolts

did the Koya and Konda tribal chiefs
rise against the local overlord from

a Mansabdar family?

(b) Elder nuns in Buddhism (@) The Rampa Rebellion, 1879-1880
(¢ Women denied the Bhikkhuni () The Gudem Uprising, 1886
status

(¢) The Rampa Rebellion, 1922-1924
(d) Women expelled from the Buddhist

Sangha (d) The Telangana Armed Struggle,
1946-1951

78. Which member of the Servants of India
Society founded the Seva Samiti at
Allahabad in 1914?

82. Which country won the FIFA World Cup
(Men) for maximum number of times?

(a) Shri Ram Bajpai (a) Argentina
(b) Hriday Nath Kunzru (b) Brazil

(c) S.G. Vaze (c): Franice

(d) Srinivas Shastri (d); ‘Spain

83. Who among the following is the author of
the famous novel, City of Joy ?

fa) Larry Collins
(a) The Treaty of Surat (b) Dominique Lapierre

79. The First Anglo-Maratha War was
concluded by which one of the
following?

(b) The Treaty of Purandar (c) Rudyard Kipling

(c) The Convention of Wadgaon (d) Mark Tully

(d) The Treaty of Salbai

84. Who among the following is honoured
with the UN Environment Programme’s
2022 Champions of the Earth Award in
the Entrepreneurial Vision category?

80. Name the battle in which the Travancore
King defeated the Dutch in 1741.

(a) The Battle of Porto Novo (a) Ela Bhatt

(b) The Battle of Colachel (b) Amit Dasgupta

(c) The Battle of Pollilore (c) Purnima Devi Barman

(d) The Battle of Changanassery (d) Vanshika Parmar
JNBY-D-GNL/59A 29 [PTO;
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85. WRd # G20 Iwga H Fww-wg Tgha 88. Fmfafaa # @ fFm e-we F1 T 17 (gas
FgaTq A TH JHA-TE FgE-uH wias’ planets)’ F&1 a1 ?, FiH 3 T&Aq: Toh
w8l & oft 7?7 %, 79 i bt @ o &7
e (@) e, e, e, o
(b) TET-39MTE
(b) TEEAf, T, T, A
(c) @Az
@ (c) i3, wel, gewdta, o=

(d) =g, W, W, T
86. S & AR HEFAR-UH  RIE A
RA-ATe a1 | WS s 1 1641
e e, 2022 # 9@ A Yed T
(Nepal Army Battle School), Heigel # 89. frdfi 7o & war fit Fraforfas faemanet =

st B T o1 3@ S # AW foam #ifsr
¥ 1. 3 gad ar, TR i g ¥ fe-fm
i i STl | s+ )
2. ¥ gl # dew, weeiEw o iR
(b) o wfes 1 vty s § ¥
— 3. T YISl ® IAH AYG F AUR W A/
5. T8 i arfigea o w1 wehan R
(@) o
@ 7 fa@wmslt FouUR W TE W YER
YEAIY)|
87. 3R Al @ren w99 (GMT) § 10:00 a.m. 2, ;
@ 90° E | W 41 G BM? (a) @ (Alluvial)
fa) 5:00 a.m. (b) < (Laterite)
(b) 4:00 a.m.
(c) 3:00 p.m. e ui e
(d) 4:00 p.m. (d) Tl (Black)

JNBY-D-GNL/S9A
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85. The theme of India’s G20 Presidency 88. Which of the following groups of planets

‘Vasudhaiva Kutumbakam’ or ‘One is termed as ‘gas planets’ as they are
Earth-One Family-One Future’ is drawn composed primarily of lighter ices,
from the liquids and gases?

(a) Maha Purana (a) Mars, Jupiter, Neptune, Uranus

Maha Upanishad
®) ? e (b) Jupiter, Uranus, Neptune, Saturn
(c) Rig Veda
(c) Saturn, Mars, Jupiter, Neptune
(d) Smriti
(d) Neptune, Saturn, Mars, Uranus

86. The 16th edition of Indo-Nepal annual
joint training exercise in jungle warfare
and counterterrorism operations was
held in December 2022 at Nepal Army
Battle School, Saljhandi. What is the
name of this exercise?

89. Consider the following characteristics of
a soil type :

1. These soils consist of various
(@) Sampriti proportions of sand, silt and clay.
(b) Mitra Shakti 2. These soils contain adequate

proportions of potash, phosphoric

id and lime.
(¢) Yudh Abhyas acid and lime

3. These soils can be further classified

o Sy Ky on the basis of their age.

87. If it is 10:00 a.m. at Greenwich Mean Idcnti.fy the type Of.SO'ﬂ on the basis of

Time (GMT), then what will be the time the given characteristics.
at 90° E longitude?

(a) Alluvial
(a) 5:00 a.m.

Laterit

(b) 4:00 a.m. (b) Laterite
{c) 3:00 p.m. (c) Arid
(d) 4:00 p.m. (d) Black

WWW.EAZYSALE.IN
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90. F=fdfiga ®uHt w famm fifse v fi= fag o

%2 F 74 F A€ IW g

1. TRt am fge F= A @9, FEen @
gl e N8 daE W 3w Ry
IqTed % foqu fan sman B

2. uH T FA R W WY F Fwen & fo
$H F Tgd e o ®, S =@ W
B et &, @ =@ (spins) 3R
Ui (turns) a1 B, q feq #1 I
g R

(@ 97 198 % frg wom 2 98 7 ®
(b) F9 2 6él ¢ fhg Fom 1 v 7 2

(c) 2 FYA wE 2 R FUA 2, FuUH 1 R
TR Al B

(d) T FYA TE 2 g T 2, A 1 A
T 7€ T &

91. fiy 7 Ifgm =1 foreaw el o= 27

(@) wEm@, 99 IR Fwir, fEaEe wew,
LEICH

(b) wErE, s 3R FeER, deE, g

(c) Er@, S99 3R FedR, gemE, ghEmn,
USRAH

(d) wer@, w9 i Fei, e W,
ger, gREmn, TS

92. WA % WEHMAINHal (SGI) F Haw #

Frffea & @ #-a1 Fom wd T 27

(@) SGI, &R # g&1 fafy wamwsr da
2

(b) SGI, 30 1 fdfas fafu sfd da
2

(c) SGI % 98 T Hilquis 9 81

(@) whwea 6 Fafe wffa zm sar =
foger T stman R

93. Fafafiaa & ¥ g afufa & vsy 9w & we=

7E a2

(@) e o afifa

(b) G IuFEH-gadt wifa
(c) TERTH wffd

(d) wigafm st oiv srgfaa st %
Feam-gad! Ffa

94, A ¥ Tpafy ¥ Pt ¥ waw # Pt §

¥ FH-91 94 6 TE 87

(@ +1§ 4@ W=, wgefa faifem @87 @
CEE R

(b) TEufe 1 Fafew gwe ok o=t @ w9
Tsa-gE f Rum-wnst % feifae
wee g R s R

() Tata® m & furh ofeg % Faifa
Hee e 78 8 1

(d) THA THEOE WA g POl
vt vefe 1 arem fFn s )
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90. Consider the following statements and

identify the correct answer using the
code given below :

1. In a thermal power station, fuels
such as oil, coal or natural gas are
used to generate electricity.

2. Fuels are burned to heat water and

turn it into steam, which goes

through a turbine, which spins and
turns, generating electricity.

Code :

(a) Statement 1 is correct Dbut
statement 2 is not correct

(b)) Statement 2 is correct but
statement 1 is not correct

(¢) Both the statements are
correct and statement 2 explains
statement 1

(d) Both the statements are correct
but statement 2 does not explain
statement 1

91. Indus river basin is extended up to

(a) Ladakh, Jammu and Kashmir,
Himachal Pradesh, Punjab

(b) Ladakh, Jammu and Kashmir,
Punjab, Haryana

(c) Ladakh, Jammu and Kashmir,
Punjab, Haryana, Rajasthan

(d) Ladakh, Jammu and Kashmir,
Himachal Pradesh, Punjab,
Haryana, Rajasthan

92. Which one of the following statements

about the Solicitor General of India
(SGI) is not correct?

(@) The SGI is the Government’s chief
legal advisor.

(b) The SGI is the secondary law officer
of the country.

() The post of the SGI is
a constitutional post.

(d) The SGI is appointed by the
Appointments Committee of the
Cabinet.

93. Which one of the following committees

does not have members from the
Rajya Sabha?

(a) The Public Accounts Committee

(b) The Committee on Public
Undertakings

(c) The Estimates Committee

(d) The Committee on the Welfare of
Scheduled Castes and Scheduled
Tribes y

94, Which one of the following statements

about the election of the President of
India is not correct?

() A Union Minister shall not be
eligible for election as the
President.

(b) The President is elected by the
elected members of the Parliament
and the Legislative Assemblies of
States and Union Territories.

(c) The Electoral College does not
include elected members of the
Legislative Councils.

(d) The system of proportional

representation by means of single
transferable vote is followed.

BUY SCHOOL BOOKS, GUIDES & SOLVED PAPERS FROM
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95. AT A, 1955 Frg arfra =i a1 35%F 98. Hiadl 1 =3l wardl CE # U U= g 319+

A1 AT & o 4 gefee 87 firsdt & fRa ¥ R =zafem fre o gha =i
(@) 2670, 1950 mmﬁwﬂﬂﬁm%mwm

(b) 26 FE=, 1949
I(C) 15 m, 1947 (a) QiTﬁTq (Ennayiram)

(d) 14 3T, 1947 (b) IFTHE (Uttaramerur)

96. Hifa (NITY) @ g fiffa wd ag-smm (c) TeEmiTem (Siyyamangalam)
el gepiw (MPI) % 3gen, fedt ufEm
(household) @i afed wFT ST 2, 4R (d) FEEmETE (Kudumiyamalai)

1. 9RER (household) % W& i e #
TEEM Heq-aifid (undernourished) %

w9 & it et @ 99, 3IEBREEl WA ¥ WRA ¥ e #H, ‘TwH
2. 15 9d 3l 49 9§ ¥ f=a A 7y awEh (Dastak)’ =1 o117
Teorelt wfeen wew =1 R F=WE gEEE
(body mass index) 185 kg/m? q (@) TEIER
E
13 o g 2 1 S A I g LB
(@) a1 (c) =HEEE R
(b) a2

(d) FEI (textiles) T
c) 1 3R 22

(d A 1ARAH 2
100. fr=fafiaa § & #9-w, gema: ‘Tef’ v @

97. TETSHEN [Rayagajakesari)’ 3R Hag
‘TETSHE (Dayagajakesari) @l IqTierf
Frafafaa & ¥ frg teEw & dag o7 (@) =8 IGEA
(@) FTHdE (b) I&
(b) TR
P (c) vRTHEHIREL (officials) Y YTaH
(d) TgE2 (d) TSRS EUR
JNBY-D-GNL/59A 34
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95. The Citizenship Act, 1955 deals with the 98. Name the location of the musical

determination of citizenship on or after inscription containing groups of musical
notes arranged for the benefit of his
pupils by a king in the seventh or eighth

(b) 26th November, 1949 century CE.

(@) 26th January, 1950

(c) 15th August, 1947 (a) Ennayiram

(d) 14th August, 1947
(b) Uttaramerur

96. According to the National Multi- (c) Siyyamangalam
dimensional Poverty Index (MPI)
constructed by the NITI Aayog,

a household is considered deprived if (d) Kudumiyamalai

1. a single member of the household
is identified as under-nourished

99. In the context of eighteenth century
2. the body mass index of a woman _ India, what was Dastak”

member, between 15 years

and 49 years of age, is below ;
18'5 kg/m?2 (a) Signature

Select the correct answer using the code

; bel (b) Land document
given ow.

(a) 1 only (c) Trade permit

(b) 2 only
(d) Tax on textiles
(c) Both 1 and 2

(d) Neither 1 nor 2

100. Which one of the following was primarily

associated with Dadni’ system?

97. The titles of ‘Rayagajakesari’ and
‘Dayagajakesari’ were associated with ' . 7
which one of the following dynasties? - LR e production

(@) Kakatiya (b) Warfare
(b) Vijayanagara _

() Gaij . (c) Payment to officials
(s ajapati

(d) Rashtrakuta (d) Revenue collection

JNBY-D-GNL/59A 35
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101. FTHeEg Jae® =a % ar § frefataa 103. ¥ & TH wHR § Feafafed fww@en w

mmﬁﬂ'ﬂﬁﬁﬂ: ﬁﬂ'l’(?ﬁ'ﬁﬂ:

1. 7% o 78 ¥ = w o ) 1. % gaea @ ffifa €1 2

2. HAMEY WY F FN vgeh i ded 2. ¥8 W9 F UHHA YHRK B S e,
vAREd CE & &9 % & ¥ £ Heprel i fateh Fiu 3w F wea

3. @ W W W I H owfen fed 3. A 9@ FEridl % AR B AR, T

ol “Frerg-id (anwvil tops]' EChcEd
¥ ?
e 0 SRS RS A 7 Fytiaaisi F R | ¥9 TR 6 9wEE
(@) Fad 1 3R 2 #Hifer )
b) 2R3 (a) T FIf 79 (Stratocumulus)
c) Faa 133
(b) FarE! 961 #9 (Cumulonimbus)
(d 1,233

(c) T HUTEH Y (Cirrocumulus)

102. T;T%I?a"r ¥ an # fefafaa § 4 #9-8 ®9F (@ w9 (Nimbostratus)

1. SaEm@ # ¥E@d  (strength)
saramd fSER@l gEE®  (Volcanic

Explosive Index) & 191 Tt 21 104. W1 @ g weifa e =ed & 6 e
2. wgEae v freindfa, sotemgE e TR 221 % &) W, AHA:, ST AER 3N
(volcanic activity) & Fififa gg 41 Faiai 6 ge @y § gefud ¥ wegfa &
3. arEmd! gl 3w, el o I A fou frafafaa § @ #A-w waies 395w
& a1 7 Tea i fil - w2 &m?
412 fég e g2 1 wim W g s gFe (@) 91 9 (Pie chart)
(a) Faa 1 3R 2
(b) S UTF (Scatter graph)
(b) Faa 2 3R 3
o Sl 5 (c) &&= (Bar chart)

(@@ 1,233 (d) Trnfm % (Triangular graph)

JNBY-D-GNL/59A
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101. Consider the following statements about

Kanaganahalli archaeological site :

1. It is situated on the bank of Bhima
river.

2. The remains of the Kanaganahalli
Stupa can be dated between
1st and 3rd centuries CE.

3. Emperor Ashoka’s image was found
at the site.

Which of the statements given above are
correct?

fa) 1 and 2 only
(b) 2 and 3 only
() 1 and 3 only
(d 1,2 and 3

102. Which of the following statements about

volcanoes are correct?

1. The strength of a volcano
is measured by the Volcanic
Explosive Index.

2. Iceland and Philippines were
created by volcanic activity.

3. Volcanic soils are rich, deep
and fertile and allow intensive
agriculture to take place.

Select the correct answer using the code
given below.

(a) 1 and 2 only
(b) 2 and 3 only
fc) 1 and 3 only
(d 1,2 and 3

JNBY-D-GNL/59A

103. Consider the following characteristics of
a cloud type :

1. They are born through convection.

2. Only cloud type that can produce
hail, thunder and lightning.

3. They are large cauliflower-shaped
towers, often ‘anvil tops’.

Identify the type of cloud on the basis
of the given characteristics.

(a) Stratocumulus
(b) Cumulonimbus
(c) Cirrocumulus

(d) Nimbostratus

104. Meena wants to show diagrammatically
how two sets of data, mnamely,
population size and number of services
are related to each other. Which one of
the following will be the most suitable
for the presentation?

(a) Pie chart
(b) Scatter graph
(c) Bar chart

(d) Triangular graph
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105. Fr=fafan wda o=at 3§ ¥ e @e@ @l 108. gl fhen fifa, 2020 ¥ weiftm f=fefaa

q2-Ya &7 FHH W faer Hifsw

w) afETg 1. 9§ 2025 @ @A IR I=w faan

i yoIelt & Wiem ¥ FH--%9 50 wiwa

(b) TR Taenfiat =6t ey fian & s

(c) WERTY 2. wafe foEeE, swe do  wmo,
uiferefas iR g 3@l % wy

(d) 9 g _ HEdm &

3. FEEys e iy =9 @ -wwd

106. freffian 7o & § A-w/A-2 wh /47 e (NGOs) ¥r1 i i sl

1. TaomEmem w6 U - ae R Iwg FE A ¥ B /AE-D G B/E7
2. T U UH SR 96 B
¥R fow U 52 w1 wEm W g s ghuy i Ay
(@) ¥ 1 (b) FaA 1 3R 2
(b) e 2 (c) e 2 33
c) 1 3R 23E
(d 1,23MN3

(d Id1MMIA2

107. =¥ 2011 3R 2021 ¥ &= wRd ¥ FASTRA 109. ift (NITI) sTRm ¥ oran, frefafe & @
& % gfe g B aufy, s smfa % Tl 1 FH-91 WE, T Tho <o Sflo 9Ra
wIE % form aareeiea & & at ofi g 87 YIFF, 2020-2021 (Composite SDG

India Index, 2020-2021) § ¥a& 3 &7
(@) fd @ 97 [70 wiowa A s faam G e } ’

YAl (canopy density)] (@) iz RER

(b)) W™ 9 §4 (40-70 Wiawm F d=

Taram weea) (b) IR WV, FREe, fEr
(c)wgm?q(lo—zoufam%anaﬁam P et i N
(d) (b) 3R (c) T (d) 3hfEwm, farw, REe

JNBY-D-GNL/59A
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105. Which one of the following Indian States
has the longest coastline?

(a) Tamil Nadu
(b) Gujarat
(¢) Maharashtra

(d) Andhra Pradesh

106. Which of the following statements is/are
correct?

1. Visakhapatnam Port is a land-
locked harbour.

2. Deendayal Port is a tidal port.

Select the correct answer using the code
given below.

fa) 1 only
(b) 2 only
() Both 1 and 2

(d) Neither 1 nor 2

107. There is an increase in forest cover area
of India between 2011 and 2021.
However, there is a decrease in forest
cover area of India during the same
period in

(a) very dense forest (canopy density of
more than 70 percent)

(b) moderately dense forest (canopy
density between 40-70 percent)

() open forest (canopy density
between 10-20 percent)

(d) Both (b) and (c)

JNBY-D-GNL/59A
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Consider the following statements
concerning the National Education
Policy, 2020 :

1. At least 50 percent of the learners
through  school and  higher
education system to get exposure
to vocational education by 2025.

2. Secondary schools should
collaborate with ITIs, Polytechnics
and local industries.

3. Vocational education to be
exclusively provided by NGOs.

Which of the statements given above
is/are correct?

(a) 1 only
(b) 1 and 2 only
(c/ 2 and 3 only

(d 1,2 and 3

109. Which of the following sets of States

is at the bottom of the Composite
SDG India Index, 2020-2021 as per
the NITI Aayog?

(a) Assam, Jharkhand, Bihar
(b) Uttar Pradesh, Jharkhand, Bihar
(¢) Uttar Pradesh, Bihar, Assam

(d) Odisha, Bihar, Jharkhand

[ P.T.O.
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110, freffem § ¥ F-w, @ F IR F 112, Sgie H dan , Pefie § 3 A9-2
=BT 51 FI W AL 7 R
1. 3 7m d9% 3R Fewsr A)
; : 2. TR IAT-HAH qfEr g fafa
(a) Frigr wifa i guan ) s 3 s FF
3. am’ﬂ‘ﬂqiﬁweccaﬂ)aﬁ(mﬂ
(b) TE F " AEETE i wEE el A
i e 1 faw o 2 w1 W@ W Ed@ IR g
(@) Faa 1 3R 2
() FaigE fqari & wwu % fog UN
wrife &1 =1 w@m (b) Faw 2 3R 3
(c) Faa 133
(d) eIy g SaiyE fEet ¥ feer % (@ 1,233
 fer s w0

113. o ¥, fimen # ol whug # snftwies
9 § WHART A 96 F99 Ig aEEd

T A FE A7

111. 3 A F, -Frig :mz‘raq (NAM) & famm (@) i1 @™
m (f:;m;;ive phase) # @ Iga # L it mah

| (c) & AN
(@) ®W GEAE (Kwame Nkrumah) (@) faferm afE=

114.aw§é‘nmwshaﬁ%;«ﬂaw%ahﬁm
(h) ST =@ AL (Gamal Abdel bt il it DT tod

Nasser)
(a) TGS
(c) TEATEETE TEE (b) HYA BT
(c) WTT=R THIS
(d) Tes ¥/ (Fidel Castro) (d) & wnga
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110. Which one of the following is not a part 112. In respect to Balutedars, which of the
of Article 51 of the Constitution of statements given below are correct?

India? 1. They were village servants and

artisans.

2. They were employed by individual

(a) Promote international peace and peasant family.

security
- 3. They existed in the Medieval
Deccan and Maharashtra.
(b) Maintain just and honourable Select the correct answer using the code
relations between nations given below.
fa) 1 and 2 only
fc) Use of UN peacekeeping force for (b) 2 and 3 only

resolution of international disputes () 1 and 3 only

(d) 1,2 and 3
(d) Encourage settlement of inter-
national disputes by arbitration

113. Which one of the following Viceroys was
the first to officially shift his Council
to Simla in summer season?

(a) John Lawrence

111. Who among the following was not in (b) Lord Dalhousie

the core leadership of the Non-Aligned (c) Lord Mayo
Movement (NAM) in its formative phase?
(d) William Bentinck

(a) Kwame Nkrumah
114. Who among the following is the author

of Maze Vidyapeeth, the famous poem
about the life of working class of

(b) Gamal Abdel Nasser Bombay?

(a) Narayan Surve

(c) Jawaharlal Nehru (b) Amol Palekar

(¢) Bhalchandra Nemade
(d) Fidel Castro (d) Narendra Jadhav
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115. 7 @ e 1o el AR i A 110, ¥ PR ‘wEed e (Payyoli

T Y off? Express) % 9 ¥ 1 a1 27
(@) TUTEE 39
e e (@) Temem
(c) EREHMY R (b) T =R
(d) FTE = ¥
(c) dio FHo I
116. 3 W, 2021 T WY TG HE@H1 § SFR
g Ty dEe § 9 2023 B Peew (@) ¥eh
HigE af 7 %1 Fofa R e

(@) i fawm & o s fgm

(Basic Sciences)

120. ¥IfeT @A TR, 2022 ¥ fasared @

5 Haftm gefi-1 91 g1 F @y gafa At
(b) R ghl % 19 fe g2 = wn w
() T (Millets) Im 9fY ;
(d) 2 (Camelids)
geit-1 =11
117. #fd% 77w, @A 1cc g T20 fgew, (I &1 9 3R fawn) (Fr)
2022 & TR 6 e 7, i ;
e oL RN
(@) T B. m%w(mﬁm— 2. o T
. IR
(b) WIF A SFHRTA 3 ; ;
© e C. B &9% (MeH-4ur) 3. =5 TR0
(@) i D. 37ag e (1) 4. AN FAR T
118. ST TN (Wassenaar Arrangement) & .
Hay # frafaiaa § @ #9-w F9 w8 TE @ & B e . B
?? L g TGy
(a) 8 =FaE § 42 wfowrf 2w mive §) '
B A BEYeiLD
(b) TEH T HHAG: TH QTHY] BUER 1 3 2 4
e (nuclear weapon overseer) %
w9 § foFan ma) @K BYe Y
(c) WA 39 HGEYT F1 TG 3695 | A SO et
(d) wRa T8 Faeen § 9§ 2017 § Wt d) R B e
L& - 4 . 2/ 1igmait
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115. Who among the following founded 119. Who among the following is known as
the Hindu Dharma Sabha in the ‘Payyoli Express’?
19th century?

(a) Radhakanta Deb
(b) Ram Mohan Roy (b) Dutee Chand
(c) Dwarkanath Tagore

(d) Keshab Chandra Sen

(a) Hima Das

fc) P.T. Usha

(d) Shiny Abraham
116. The resolution adopted by the United
Nations General Assembly on 3 March,
2021 decided to celebrate the year 2023

as fhe Internatibnal Yede of 120. Match List-I1 with List-II relating to

Sahitya Akademi Award Winners, 2022

(a) Basic Sciences for Sustainable and select the correct answer using the
Development code given below the Lists :
(b) Glass
(c) Millets Lz_i?e (j‘is;:f)
(Title a nre uthor,
{d) Camelids 4
A. Bhool Satya (Short 1. Kamal Ranga
117. Karthik Meiyappan, who secured Stories)
hat-trick in the ICC Men’s T20 World
Cup, 2022, represents B. Tumadi Ke Shabd 2. Veena Gupta
(Poetry)
(a) Zimbabwe
() United Arab Emirates C. Chhe Roopak (Drama) 3. Badri Narayan
(c) Sri Lanka D. Alekhun Amba (Play) 4. Manoj Kumar
(d) Namibia wEm
118. Which one of the following statements Code :
about the Wassenaar Arrangement is
not correct? (a) A B C D
fa) There are 42 participating nations : 2 3 . .
in the Arrangement. (b) A B c D
(b) 1t is formed primarily as a nuclear 1 3 2 4
WC&pOI'I OVETrSEer.
fc) India is the current Chairman of () : g g 11)
the Arrangement.
(d) India joined the Arrangement in (d A B C D
the year 2017. 4 2 3 1
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INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK
THAT THIS TEST BOOKLET DOES NOT-HAVE ANY UNPRINTED OR TORN OR MISSING PAGES
OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

2. Please note that it is the candidate’s responsibility to encode and fill in the Roll Number
and Test Booklet Series A, B, C or D carefully and without any omission or discre ancy at
the appropriate places in the OMR Answer Sheet. Any omission/discrepancy render
the Answer Sheet liable for rejection.

3. You have to enter your Roll Number on the Test Booklet in
the Box provided alongside. DO NOT write anything else on
the Test Booklet.

4. This Test Booklet contains 120 items (questions). Each item is printed both in Hindi and
English. Each item comprises four responses (answers). You will select the response which you
want to mark on the Answer Sheet. In case you feel that there is more than one correct response,
mark the response which you consider the best. In any case, choose ONLY ONE response for each
item.

5. You have to mark all your responses ONLY on the separate Answer Sheet provided.
See directions in the Answer Sheet.

6. All items carry equal marks.

7. Before you proceed to mark in the Answer Sheet the response to various items in the Test
Booklet, you have to fill in some particulars in the Answer Sheet as per instructions sent to you
with your Admission Certificate. %

8. After you have completed filling in all your responses on the Answer Sheet and the examination
has concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted
to take away with you the Test Booklet.

9, Sheets for rough work are appended in the Test Booklet at the end.

10. Penalty for wrong answers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.
() There are four alternatives for the answer to every question. For each question for which a
wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that
question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.
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